BIC
10°

log[ Relative Probability ]

—8000 —6000 —4000 —2000

Window Half—Width (km/s)

107

10°

0

10*

1000

rm428 X /(406810-4969)=10.252
. B B A A S S S S
L BIC 4183830.25 ABIC 0.000 AlogP 0.0000 1
- 2 2 ]
[ X~ 4119650.25 Ax® 0.000 AlogP 0.0000 ] B|9
L 1 X
L 4969 .
A
P T E N E N E N R
5 10 15 20 25 30
30 iterations
rm428 X /(406810-4969)=10.252
L s B L ) L L S S S|
r BIC 4183830.25 ABIC 0.000 AlogP 0.0000 -
I X2 4119650.25 Ay% 0.000 AlogP .0.0000 _
Fe2 15% 887+180 km/s
rm428 BLR 6110 NLR 900 km/s
F——— T 77— T T T[T T T T[T T T T T T T T
F _ . 1 BLR
- - —4969 ~ — — T T T T — T T T 1
i A |
P P T E N E N E P B
5 10 15 20 25 30

30 iterations

kdh1 11-0ct-2021 05:46



